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1. Response to Questions

RAN1 thanks RAN2 for LS R1-070646(R2-070421) on “Intra-frequency vs. Inter-frequency”. After discussion, RAN1 has reached the following conclusions.
Q1) Can UE’s simultaneously perform measurements from cells whose center carrier frequency is equal but cells have different bandwidths?

Yes, there are two main possibilities

1) Serving cell indicates to the UE a measurement bandwidth. The UE actual  measurement bandwidth is equal to the minimum of its serving cell bandwidth and the indicated measurement bandwidth.  

2) the UE uses a measurement bandwidth equal to the bandwidth of the center 72 subcarriers of the target cell.

By measuring over a bandwidth wider than 72 subcarriers more RS energy is obtained which can improve measurement accuracy.

Q2) Which of the scenarios in the attached document would RAN1, RAN4 consider Intra-frequency?

Whether a UE can perform a simultaneous measurement of a target cell is indeed best determined with reference to the specified scenarios.
RAN1 has reached the following conclusions:

Scenario A: 
An intra-frequency scenario; not measurement gap assisted.

Scenario B: 
An intra-frequency scenario; not measurement gap assisted.
Scenario C: 
An intra-frequency scenario; not measurement gap assisted if one of the options given in the Q1 response is used.

Scenario D: 
An inter-frequency scenario; measurement gap-assisted scenario.
Scenario E: 
An inter-frequency scenario; measurement gap-assisted scenario.
Scenario F: 
An inter-frequency scenario; measurement gap-assisted scenario.
Q3) If a UE can measure a neighbor cell i.e. it is an intra-frequency cell, could the UE also receive the primary BCH (1.25MHz) from that cell? What about secondary or dynamic BCH from that cell (having in mind that the secondary or flexible part of system information is not bandwidth limited and can be transmitted over the available cell bandwidth)? Or, are measurement and BCCH reception separate capabilities?

P-BCH of intra-frequency cells:

Demodulation of the P-BCH without interrupting reception of the active cell is feasible.

S-BCH of intra-frequency cells:
a. In case of option 1 of Q1 is taken: demodulation of the S-BCH without interrupting reception of the active cell is feasible if bandwidth of S-BCH is equal to the minimum of actual UE measurement bandwidth per option 1, and of [x] subcarriers. The [x] subcarriers needs some more discussion in RAN1. 
b. In case of option 2 of Q1 is taken: demodulation of the S-BCH without interrupting reception of the active cell is feasible if bandwidth of S-BCH is equal to the bandwidth of the center 72 subcarriers.
Dynamic BCH of intra-frequency cells:
a. Dynamic BCH is not based on L1/L2 control
Same with S-BCH is applied. 
b. Dynamic BCH is based on L1/L2 control
Specific mapping and specific coding rate on L1/L2 control channel could be required but RAN1   have not discussed this aspect. RAN1 needs to determine the complexity in this case.
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